Answers Tuesday 19th May
Year 5 Maths – Translations with co-ordinates
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Year 6 Maths – Reflections
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Expected Expected

4a.C:(5,1)(7,) (7, 3) 4b.D: (5, 5) (5, 3) (8, 5) (8, 3)
5a. False; it will be (2, 6) 5b. True

6a.A(4,1),B(6,1),C (6,0),D (4,0 6b.A(5,3),B(51),C(7,1)
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Expected Expected

4a.C 4b.B

5a. 1 unit right and 4 units up: won't it 5b. 3 units right and 2 units up: (8, 7) (6, 5)
1 unit right and 4 units down: (5, 3) (5, 1) (8.5)

7.1 3 units right and 2 units down: (8, 3) (6, 1)
1 unit left and 4 units up: won't fit (8.1)

1 unit left and 4 units down: (3, 3) (3, 1) 3 units left and 2 units up: (2, 7) (0, 5) (2, 5)
(5.1) 3 units left and 2 units down: (2, 3) (0, 1)
6a. Uma is correct because verlex A (2,1)

moves 3 units left (-3) and 3 units down 6b. Miles is correct because vertex B

(-3). The new coordinates are (0, 3). moves 4 unifs right (+4) and 5 units down

(-5). The new coordinates are (7, 2).
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Expected Expected

4a. False. The correct coordinates are 4b. True

(-1,2), (-1,4), (-3,4), (-4, 2), (-4, 3). 5b. (2, -2), (2, -4), (5, -2), (5, -4)
(2, - 6b.





image4.png
Expected

4a. There is more than one possibility, for
example: Shape A can be reflected in the
x axis and then franslated 5 units to the
tight; Shape A can be translated 5 units
tight and then reflected in the x axis.

5a. Starting shape coordinates: (0, 0),
(-2,0),(-1,3), (-3,3).

6a. Shape A is incorrect. The new
coordinates should be (-2, 1), (-2, 4),
(-4,4), (-5,1), (-5, 3).

Shape B is correct.

Expected

4b. There is more than one possibility, for
example: Shape A can be reflected in the
x axis then translated 5 units leff; Shape A
can be franslated 5 units left and then
reflected in the x axis.

5b. Starting shape coordinates: (-5, 1),
(-4,3),(-3,3), (2, 1).

6b. Shape A is correct.

Shape B is incorrect. The new coordinates
should be (-2, -2), (-2, -4), (-4, -1), (-4, -5).




